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31> 15 17 20 22 25 271 29 30 32 35 37 40 42 45 47 50 52 55 57 60 625m
10 87 72 64 55 5+w5 48 45 4 38 34 33 3 285265 25235225 21 2 t

31 » 169 20 22 25 27 30 306 32735 37 40 42 45 47 50 52 55 57 60 m
10 82 74 64 58 51 5+=5 46 43 4 38 35 33 31 29 27 26 245t
31 - 17 20 22 25 27 30 308 329 35 37 40 42 45 47 50 52 55m
10 83 75 64 59 52 5+=5 47 44 4 38 35 33 31 29 275t
31 - 171 20 22 25 27 30309 33135 37 40 42 45 47 50 m
10 84 75 65 59 52 5+-5 47 44 4 38 35 33 31t
31 - 173 20 22 25 27 30312 33435 37 40 42 45 m
10 85 76 65 6 53 5+»5 47 45 41 38 355t D
31 - 174 20 22 25 27 30 314 33635 37 40m 10
10 85 76 66 6 53 5«5 48 45 41t
5 - 04t
31 - 175 20 22 25 27 30 316 338 35 m NI
10 86 77 66 6 53 5+»5 48 t "~ (m)

31 » 176 20 22 256 27 30 m —— = - (4t
10 86 77 66 6 53 t

24> 15117 20 22 25 27 214979 30 32 35 37 40 42 45 47 50 52 55 57 60 625m
10 87 72 65 56 51 55 46 44 38 36 32 3 28 265245 23 215205 19 18 t

24 » 1720 22 25 27 30309 31532 35 37 40 42 45 47 50 52 55 57 60 m
10 83 74 64 59 52 5+-5 49 44 41 38 35 33 31 29 27 25 24 225t

24 » 17120 22 25 27 30 311 31732 35 37 40 42 45 47 50 52 55 m
10 84 75 65 59 52 5+»5 49 45 42 38 36 33 31 29 27 255t

24 » 172 20 22 25 27 30313 31932 35 37 40 42 45 47 50 m
10 84 75 65 6 53 5+w-5 49 45 42 38 36 33 31 29t

24 » 174 20 22 25 27 30316 32235 37 40 42 45 m o ¥ =}
10 85 76 66 6 53 5+s5 45 42 39 36 335 t 10

24 » 175 20 22 25 27 30 31,8 30435 37 40 m - 04t
10 86 7.7 66 61 54 5+s5 46 43 39 t 5 N

24 » 176 20 22 25 27 30 32 326 35 m (m)
10 86 77 67 61 54 5+u5 46 t —— B

24 » 176 20 22 25 27 30 m

10 86 7,7 67 61 54 t

4200 - 3400 - 2300 kg 4200 - 700 kg
= | i kg = | i kg

M 33LVF/50LVF  75LVF 33LVF/50LVF  75LVF
62,5m 15m 16 800 16 000 15m 16 100 15400
60 m 15m 16 800 16 000 15m 16 100 15 400
55m 15m 14100 13 300 15m 14000 13300
50m 15m 13300 12500 15m 12 600 11900
45m 12m 16 000 15200 12m 16 100 15 400
40m 12m 14 900 14100 12m 14700 14 000
35m 12m 12 600 11800 12m 12600 11900
30m 12m 11000 10 200 12m 11200 10 500

H(m)| 392 359 325 275 225 175 125 ‘

A(t) 80 80 8 80 80 8 80

H(m) 536 502 452 402 352 302 252 202 152 ‘

A&(f) 114 9% 66 60 60 60 60 60 60

H(m)| 525 492 475 425 375 325 275 225 175 125
A () 110 95 80 55 55 55 55 55 55 55

H(m)| 614 564 514 464 414 364 314 264 214 164
A() 132 108 84 60 36 24 24 24 24 24
H(m)[ 50,9 475 459 425 375 325 275 225 175 125
A ()] 125% 100* 90 70 55 55 55 55 55 55
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ch-PS
hp kW
mimn 1,8 =74=—22 =528 =42 =56 09=37=11 =14 =21 =28 30 22 31m
t 5 5 O |8/ | 2 |28 0 | ) 10 75 5 25
mmn 3 =12 =3 —46 266 =9 15— 6 — 18 =23 — 33 — 48 50 37 557m
t 5 5 D | &/ | 2 |29 1@ | il 10 75 5 2,5
m/mn 4 =14 =52 =66 =90 =110 18— 7 — 26 = 33 =45 = 55
t 5 5 5 375 25 16 10 10 10 75 5 3,2 i 9| el
m/min 0—79 6,5 48
tr/min
U/min 0—10,8 2x55 2x4
rpm
m/min 12,5-25 2X7T 2x52
m/min 15-30 4x5 4x37
m/min 15-30 4x5 4x37
m/min 13,5-27 4x5 4x37
33 LVF :50 kVA
400 V (+6% -10%) 50 Hz 50 LVF : 70 kVA
75 LVF : 90 kVA
33 LVF 25 Optima 50 LVF 25 Optima | 75 LVF 25 Optima
m/mn
m/mn 110 + 259
m/mn 9 +25% p % 0 ut
+25% Ut 66
56 Vo 52
42 36
22
125 25 5t 125 25 5t 16 25 5t
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